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Ranking means a person's place in a group
of people. In this, some conditions are given on
the basis of which a person has to find the top or
bottom and the right or left position.

In some questions, a person is ranked from
front and back and you have to find the total
number of people.

Sometimes the number of certain persons
is given and one of them is given the position
from front or back. If the position is given from
the front, then its location has to be found from
the back or then it has to be placed from the back
and the position has to be obtained from the front.

Many times one of the two persons is ranked
from the front and one from the back and there
are some people among them, whose number is
given and you have to find the number of all the
people.

Sometimes two people are positioned from
left and right. If they change their place among
themselves, then they are placed in their oppo-
site direction and you have to find the total
number of people.

The reasoning ability of the candidate is
tested through these types of questions

Linear or horizontal order arrangement

Questions asked within this are based on the
persons or objects in the row, in which some per-
sons or groups of objects are given and their or-
der is also given. You have to find the location of
one person or thing relative to another person or
thing.

Questions that use the words 'row', 'right-left’,
'middle’, 'end’, etc. should be arranged on the ba-
sis of the linear order.

Vertical order

Under it, comparative details related to age,
height, weight, intelligence, ability etc. of certain
persons or objects are generally given and on the
basis of the given details, you have to find the
age, height, length, weight, intelligence, ability
etc. of a particular person or thing .

Questions which use the words 'long-short’,
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light-heavy', 'small-big', 'up-down', 'before-after'

etc. should be arranged in the vertical order .

The following two sequences are used to solve
these types of questions.

(i) Ascending order (increasing order) :
Length, height, weight etc. are increasing in as-
cending order.

(ii) Descending order (decreasing order) : In
descending order, length, height, weight etc. are
reduced.

Important points

1. When the position is to be determined in a
class, if you are asked to find a position before
the given position then subtraction is done and if
you are asked to determine a position below the
given position then addition is done.
2. If the values of different positions are given
from both the directions and the value of the
middle position of both of them is also given, then
the following two possibilities are formed.

(i) Maximum number = Sum of both numbers

+ the number in the middle

(ii) Minimum number = sum of both numbers -

the number in the middle + 2
3. If the values of different positions are given
from both the directions and the value of the
middle position between them is not given, then
it is not possible to find the maximum number,
but the value of the minimum number is equal
to the maximum value of the given two directions.
4. Position from opposite direction = Total
number - position in perpendicular direction +1
5. If the position of a number which is right or
below the position of the given number is to be
determined then addition is done and if the
position of a number which is above or on the left
of the given number is asked then substraction
is done.
6. If the value of a position is given from two
different directions then the some of positions =
Sum of both the directions - 1
7. If the question is asked in the order of
movement, seating order or books on top of each
other, it should be arranged in horizontal line or
vertical line or ascending order or descending
order.
8. In solving the question, 'bigger than' is
denoted by ">" sign and 'smaller than' is denoted
by "<" sign. For example, Vijay is short than
Shankar, "Vijay < Shankar".
9. The words 'young' and 'old' are used for age,
while the terms 'tall' and 'short' are used for
height.
10.'Not the biggest' means big but not the biggest.
Never assume that its meaning is small.
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Aatish is fourteenth from the right end in a
row of 40 boys. What is his position from the
left end?

A 40 SISH! 1 T Hfed | <1 B 4 Hees
W 2| HE BN Y SHHR TIE I R?
(a) 26th (b) 28th
(d) 25th (c) 27th
Seema’s rank is seventh from the top and

twenty sixth from the bottom in a class. How
many students are there in the class?

T el H Hi o ¥ wed iR = @ segd @
W 2w H fE B 72

(a) 30 (b) 31

(c) 35 d 32

If you are the 12th person in the queue start-

ing from either end, then the number of per-
sons in the queue is-

A 79 T BR | Y& TH areht HArR § 12 o AR
g, @ Far W safEl ®1 gen B

(a) 24 b) 23

@ 22 () 15

In a class of 40 children, Sonam’s rank is

eighth from the top. Bina is five ranks below
Sonam. What is Bina’s rank from the bottom?

40 T=a K1 wel H, WA k1 Ik Wi § v T i
IeE @ U & A R AR 9w e 2
(a) 26 (b) 28 (c) 29

(d) None of these/3TH ¥ & &l

In a class of 36 students Vinit’s rank from the
topis 12th. Kunal’s rank is three places above
Vinit. What is Kunal’s rank from the bottom?

36 BE *1 Hen | forftg w1 ¥ 9ig @ 12 of 21 Homa
1 Y ol @ 9 oM W 21 e @ Home w1 %
1 272

(@) 27 (b) 28 (c) 29

(d) None of these/3TH & 1§ &l

Rupesh's rank is 16th from the top and 29th
from the bottom among those who passed an
examination. Six boys did not participate in

the competition and five failed in it. How
many boys were there in the class?

I ER ol B W SN 1 Yok o @ 16 o IR A=
Y 29 o 21 e Tl 7 HieEitT 9 W T foran afiw
9 39 T || Hem § fhad ae® 92

(a) 38 (b) 42

(c) 48 d 55

7.

10.

35

Vinit Jalan finds that he is 20th from the right
end in a row of boys and 6th from the left end,
then how many boys should be added to the row
such that there are 36 boys in the row?

forfia Siet = wren o 9% oige! *t U ufea | Sife
BRY 20 3 3 910 B W 6 & TF W 2, a dfw 4§
fora el 1 Stigr S =ifen T ofe o 36 g

B SH B2
(a) 12
b 11

(c) Can't be determined/ feifta =& foran s waar
d) 13

In a row of boys, Alok is 7th from the start and
11th from the end. In another row of boys,
Santosh is 10th from the start and 12th from
the end. How many boys are there in both the
rows together?

Teh! i Tk Uk |, ATeleh Y& 9 7 o AR 3q 9 11
o T W B e 1 T AR Ul o, G yesTd
10 o 3R 2fd ¥ 12 § TH W F1 AT gfA F wat
e e ®72

(a) Can't be determined /i@ =&t foran St Feran
(b) 37

() 9

(d) None of these/sTH ¥ &¥§ =&

In a row of girls facing North, Tanu is 10th to
the left of Priyanka, who is 21st from the right
end. If Twinkle, who is 17th from the left end,
is 4th to the right of Tanu, how many girls
are there in the row?

I FT AR W W ASiRal *i uh e §, 77 e
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(a) Data inadequate / STTEITQ' Ty ©

(b) 43
(c) 44
(d) None of these/37H ¥ &¥ =&l

In a row of 29 boys, Rathore is at seventeenth
position from the left while Hasan is seven-
teenth from the right end. How many boys are
there between Rathore and Hasan?

29 TIEH! i T Uik §, TSIE a1C W Ted TM W
? 3R B9 TC BR ¥ WoEd M W 8| TOR IR &
% &g e oigs 87

(@) 6

(b) 3
() 5
(d) Can't be determined /i =&t foman s gava
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11.

12.

13.

14.

In a queue of girls, Deepa is elghteenth from

the front while Nanda is sixteenth from the
back. If Kalika is twenty-fifth from the front
and is exactly in the middle of Deepa and
Nanda, then how many girls are there in the
queue”

Rl 1 T HAR |, a1 W F 18 of € Safw wq
WS ¥ 16 o T 3R hifersht GEA 9 25 o 7 AR faewat
A aiv A A H S, A FAR A P wretw 82
(a) 46

(b) 48

(c) 47

(d) None of these/38 & 1§ &l

In a row of 21 boys, when Raman was shifted
by four places towards the right, he becomes
12th from the left end. What was his earlier
position from the right end of the row?

21 TEHI FI TH U |, 9 T HI TR AR TR T
TR TAART fRa T, @ 9% 9 BR | 12 F TH W
3T T U & e BR | STHT §8 TIM 4 o1?

(a) 13th
(b) 14th
(c) 12th

(d) None of these/3TH ¥ 1§ =&l
In a row of children facing North, Sonam if
shifted to her right by four places becomes
eighteenth from the right end of the row.
Anjuman, who is fifteenth from the left end
of the row, is fifth to the left of Sonam. How
many children are there in the row?
IR &1 AT T a1 T=dl H1 TH GfR |, G
IR IR TEl 9 <€ R e o S €, @ ofed @
mﬁﬁaﬁ@ 18 off B Sl 21 AT W uleR & o1
Y159 2, W H F 9T W 5 o T W R gfE

ﬁ fr = 5
(@) 39
(b) 40
() 41

(d) None of these/3TH ¥ ®1§ =&l

Fifteen students are standing in horizontal
row from left to right. If all the odd numbered
students in the row are shifted to successive
odd-numbered positions, what will be the po-
sition of Sonam who was 7th from the left end
in the row initially?

USE BE-DE Al e ¥ 910 9 31 @ §) 9
% [t fawm e aret s F wihe form wen A
W& R MG ] e s @, ofe | 9 sR g
YEH 7 3 WM W T el §E9 T TAE F1 M7
(a) 8th from the left end

M BR G 84t
(b) 7th from the right end

IM BR G 74
(c) 8th from the right end

T BR G 84T
(d) 7th from thg left end

@ BR 9 74
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15.

16.

17.

18.

In a row at a bus stop, Amit is 7th from the
left and Prakash is 9th from the right. Both
of them interchange their positions and thus
Amit becomes 11th from the left . How many
people are there in that row?

THh 99 WY | T e §, a9 | 7 o @i
TSl T F 9 o T W T IE A g™ W
T 1 9 & 3R 30 We fhd 9 ¥ 11 F W
W T TN 39 ufE R o 77

(a) 20 (b) 18

(c) 21 d 19

In a queue of children, lovely is fifth from the
left and Riya is sixth from the right. When
they interchange their places among them-
selves, Lovely becomes thirteenth from the
left. Then, what will be Riya’s position from
the right?

Teell 1 Teh AR §, ool o1 9 et AR e <
T Tl TS 9 U T HI MY § Fge B, Al
et 9T AN ¥ Wt B S 71 Al € A @
T T FT B2

(a) 15th (b) 14th

(c) 9th (d) 8th

In a row of girls, Priyanka and Deepa occupy
the ninth place from the right end and tenth
place from the left end respectively. If they
interchange their places, Priyanka and Deepa
occupy Seventeenth place from the right and
eighteenth place from the left respectively.
how many girls are there in the row?
AEiRal ®i Th dfe o, e o G wawn: e
TR Y T 3R AT BR ¥ 70 TH W T AR F o
T I G H e €, fgen iR < sween: <
IR ¥ Foed M W IR IR AR ¥ IEREd WH W
®d B e W fepart wefmar €72

(a) 27

(b) 25

(c) 26

(d) Data inadequate / STTEITQ' Ty ©

In a queue of girls, Lovely is 8th from the right
end and Khusbu is 12th from the left. When
Lovely and Khusbu interchange their posi-
tions, then Khusbu becomes 21st from the
left Which of the following will be Lovely’s po-
sition from the right?

AEfH 1 Toh HAR |, el ¢ B W § o 3N G
qE SR W 12 § WM W 2| 5 oAl IR g o
T T STH § TG <, A G 9 AR F 21
71 ot @, Frefafed § 9§ wH-91 <€ 3R @ ofeet @
T BAM?

(a) 21st

(b) Sth

(c) 17th

(d) Can't be determined /i@ =&t foman st Feran



20.

21.

22.

Harish is 13" from the bottom. Manish is 9
ranks below Rupesh and 18 ranks above
Harish. How many students are there in the
class?

T Hefl % 3= |, T o ¥ w3 T W SR g
9 ¥ 139 T W 2 7Y, TU9 9 9 ¥ A= ® aen
9 9 18 Y& T 21 Fen ¥ fohae o 22

(a) 45

(b) 43

(c) 46

(d) None of these/3TH ¥ &1 7l

A and B study in a class. In a test, A has
secured more marks than B. B’s rank is
eleventh from the top among all the students
in the class while rank of A is better than 24
students. Which of the following is definitely
true?

A 3R B U %ell | Ued 81 Th = §, A 1B ¥ a1ty
% 3 W TR | el o o, B 1 i 3 ¥ ERE
? Safeh A %1 I 24 BE @ S8 2| Ffataa § 9
% o e w9 9 wE 22
(a) A stood first in the test

A, 7= H qW A

(b) There is atleast one student between A
and B in the rank list

I *1 g | A iR B % U %9 U %Y TF O
?

(c) The total number of student cannot
exceed by 34

BE HI HA TSN 349 Aok T & TR
(d) The minimum number of students is 28
TE I A @l 28 R
Among Q, P, L, M and N, each scores different
marks. P scores more than only L and N and

less than M and Q. Who scores the highest
marks?

Q,P,L, M 3R N ¥ ¥, Y f9=-f9=1 3fehi =1 o
FW TP, Hael L 3N 9§ sifursh sish WIa i & @ik
M 3R Q ¥ 7 3ieh YT il &1 Tl S ek i
TS T B2

(a) Q

(b) M

(c) N

(d) None of these/3TH ¥ ¥ =&l

There are five books J, K, Y, W and X placed on
a table. Y is placed just below J, W is placed
just above X, and K is placed below Y and X.

Which of the following books touches the
surface of the table?
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23.

24.

25.
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J, K, Y, W iR X O W &t e g 21Y, J & i
= W g, W, X & 3% S W@ 2, 3R K, Y 3R X
% e W 71 fefefad gt § @S- geew o

FI TE HI Tl 22
(a) W (b) X
(¢ K (d J

In a family of 6 members A, B, C, P, Q and R.
R, father of B is elder than P. A is younger
than only three members of the family. Q,
wife of B is elder than C, who is not the young-
est. P is second eldest. Who is third eldest
among them?

6 = A, B, C, P, Q 3R R & ufaR | R, I, B &1
o ® 9% P9 =€l 81 A o URER & O geE 9
BRI Q, S BH! 4ol € o8 C ¥ =Sl 8, 98 Tl Bt
T 2P, T 92 W T WH W R T U el e
T e T W R 77

(@) R (b) Q

(c) B d C

Among 6 persons, Ravi is elder than Mohan but
younger than Rohit. Arpit is elder than only 1
person. Sachin is younger than Deepak, who is
third eldest among them while Mohan is not the
youngest. If they are arranged in descending
order of their age then how many persons are
between Rohit and Sachin?

6 afaal ® 4, 9, 9ed ¥ 91 ¢ ofra Afead @ =
B At el T =t o o1 81 "ieH, e @ sia
T T U T e ¥ A R € el e g
B T B AT 3= SHT Y STER AN HH A
afeerd faan S € af Ufed iR afem & #e7 fovae
=feRt B2

(@) One / U= (b) Two /

(c) Three / @4 (d Four / IR

In a row of people Virat's rank is 8th from the left
and Anushka's rank is 15th from the left. If 4
boys are to the left of Virat and 14 boys are to the
right of Virat. 7 girls are to the left of Anushka and
15 girls are to the right of Anushka then
I Y U i W e w1 T o iR @ 8 o+ 3R
TSR 1 TAH I a6 AR | 15 of 21 4K 4 dgH
fore & o 3R © 3 14 =% fae & 3T 1R 2
7 ARl SR & o AR € SR 15 ARl S
% T AR T

i) How many people are there in the row? (if
Virat is a boy and Anushka is a girl)

itert  fema i 22 (A foie wh ofeeht SIR SR
T TEH T)

(a) 40 (b) 39 (c) 42

(d) None of these / 374 & & =&l
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ii) How many boys and girls are there in be- iv) How many boys are to the left of
tween Virat and Anushka? Anushka?
fatre st erqeaT & 9 foaR ag® T ST B A AR e wEw
wefwal 82 (@) 8 b) 7
(a) 4 girls and 2 boys (c) 9 d 6
4 Fl@ﬁh‘ﬁ 3R 2 [§EED v) When both of them interchange there po-
(b) 4 boys and 3 girls sition then what is the position of
4 T 3k 3 E@ﬁ?ﬁ Anushka frqm the right? ‘
(c) 4 girls and 3 boys mﬁmﬁmwﬁaﬁwéﬁ%ﬁaﬁw
4 TRl 3R 3 TEh A SR F T FE
(d) 3 girls and 3 boys (@) 22 (z) 3?
3 TRt 3R 3 e (C) @
iii) How many girls are to the right of Virat?
foIe % QAR et wTefrar 22
(a) 20 (b) 19
(c) 21 d) 18
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